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000 n02*°=1,048,576 000000000000 mO90 1000000
0000000000000 0O0000O BOODOOOW;0 3290000000
X}obs)DOOODODO0O0DOD0D0O0Om=90000000000 BOOO”0000000017
OO00D0O0Om =10000070000000001"0 0000000000O0OO0DOOO
NISTOODOOOODOOODOODOO GUsing SHA-1DOODOODOODOODO 1000
good

w,00o0o0o0oo0boon

W;0 (3.27)0(3.2) 00000000 w000 «*000000000000O0
goboggoobobodog 3.1sggod
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Y} obs)0OOOOOOOOOO

X}obs)DOOO N=80*00000000000000DO00O0O0ODOO0
03190000

40



A= a g

O 318 W, 00000000000000000000D0ODOO
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0 3.19: x*(obs) 00 000000000000 D 0000000000
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3.7.7 OO

gboobbbbbogoooobbobbboouuooobooboboboboaod
gooooogn
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3.8 U0OUOOoooooooboooogn

3.8.1 OO

obhoobobooboboooooobooboo NDOODbOoboooboobog
DooboDdmOO0O0O0OOO0DOODO0ODLO0O0O0ODO0O0 K+1=6000000
0000000000y 0000o0oo00ooooooooooooooooooog

3.8.2 OJ0OOOO

e O0O10000DOOO0

Urn 0oboooOod

Um dobooboogon

OB UOmUdQObOOoOobO10b00O0D0O0

OK OOOOoOoOOoboobouobK=5000b0000bo0o
OMOOODOODOOODLOOOOOobooooM=1032000000000
ONODOOODbOooo

O x*(obs) OX*00000

3.8.3 UUOOOOOO

000000000 mOO00900010000000000000000 »0
1,000,0000 00000000

3.8.4 O0OOO
Stepl U000 000 MONDOODOOODOODOO

Step2 JU00OD0O0OO0OmOOO0DOOOOOOOOOOOOODOODOODOOO
oooboboob pOb0bObO00oobOobobDbooboboobol1gn
O0000000000000000000000000004(1 <3< N)
Ooboboooboooooobooow, 0000

Step3 UUDO 000000 20100000 2, 0200000 2030000
020400000 2050000000 2s000Step20000 W,;00
0000 x(0<:<5) 000 00000
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Step4 DU UO0ODOOOO0OOOO0ODODOOOODOODOOOOODOOOODO a
0000000 ,0(332) 000000000

=
lege::
(&
2= L (n+2)
L (3.32)
ne”" :
- K 1
T3 3 (6-|-77—|-)
ne™" (n®  n* 3
- a2 q)looo
BT (24+ o T T
s =1 — (mo + m + T2+ T3 + T4)
0000
_ 2 (3.33)
=3 :
M — 1
oMo mE (3.34)
2m
Step5 (00000 y2(obs) 0 (3.35) 000000000
5
NZ
2(obs) ::j{j (v = Nmi)* (3.35)

=0 o

Step6 \2(obs) 0000 K =50 *00000000\%(ebs)00000000
0000 (3.36)0000000 pvalue00000000000pvalued O
0001000000000000000000000

b
p-value = igame (g A (;) S)) (3.36)

3.8.5 0UOO0OOO

O0000000o000o0o0oooooooow,000000oooooo|(i)o
0000 0U000o0o0oo0o0oooooooooono PU=wO

eI u—1\7n
PU =)= & Z( )— (3.37)
o &\ -1 )
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PU=0)=¢e"
P(Ule)::ge”
ne="
P(U =2) = 49
( ) 8__77(77 ) ) (3.38)
ne™" (n
P(U =3) = 7 1
W= =" ()
ne™ (0> n*  3py
P —4) = — 4+ 4+ 1411000
U=h=" gty ts

O00000000Omg,m,---,m0 (3.32)0000000000W,;0 K+1=60
0000000000000(3.35)00 X} ebs)DOODO 6—1=50\*000
gog

3.8.6 y%(obs)000000O0000ODO

000 01,000,000 000000000000 m0901000000000
70 (332)000000000000(3.35) 0000000 200000 x?(obs)
0000 K=50,000000000000000000000003.2000
321000000000000000NISTO000000000000 G Using
SHA-1OOOOOOOOOOO 10000000
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0 320 ;U0 UO0O00nOODOO0
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0 3.21: x*(obs) 000000000 DO0O0DOSB0 0000000000
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3.8.7 OO

gboobbbbbogoooobbobbboouuooobooboboboboaod
gooooogn
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3.9 MauvwrerU OO OODOOOOoOOO
3.9.1 OO

Mauwrer OO OODOOO0OOOO0OOODOODOOOOOOOO LODODOOOO
gbobogoobbobbooobooobbbbouoooobboooan

3.9.2 0OJ0O0O0OO

e O0O10000DOOO0

Urn 0oboooOod

OL 00000000

OQ 0000000oooobooon
OK OOOOooOoobooboood

Of, O000O00O0OO

3.9.3 U0OO0OOOO

oooboooo Lbe< o<Llebongooobooooooboonboon
O0QOQ=10-2'00000000006<L<150000

(10 - 2% +1000 - 2M)L < n < (10 - 25F1 41000 - 2571 (L + 1)

L=160000
(10 -2 +1000 - 2M)L < n
0000000000031 000000000000000

3.94 0O0O0OO

Stepl 000 000 LO0000000000000O00 QOOOOOOOO
0000000000 KOOOOOOOOO0OOOO00000000000
Q+K=|n/L|00D0DO

Step2 700000000000 LO0OOOOOOO 20000000000
O00;0<5;<2l—-1)0007;=:000000000000000000
000000000000 0000000000000000 (1 <i<Q)0

50



0 3.1: 00000

L n Q=10 2"
6 387,8400 904,959 640
7 904,9600 2,068,479 1280
8 2,068,43001 4,654,079 2560
9 | 4,654,0800 10,342,399 5120
10 | 10,342,4000 22,753,279 10240
11| 22,753,2800 49,643,519 20430
12 | 49,643,5200 107,560,959 40960
13 | 107,560,9600 231,669,759 81920
14 | 231,669,7600 496,435,199 163840
15 | 496,435,2000 1,059,061,759 | 327680
16 1,059,061,7600 655360

O7;, 000200000 L00000000000000000000OO
gbobooggobobobouooobbooooonog

Step3 sum U000 0000000 LOOOODOOOO2000000
ooobood,oonod

sum = sum + log,(i — 1)) (3.39)
oobooo T, =.000000000000000000000D0O0O0O

0000000000000 0000000000 (Q+1<:i<@Q+ K)O

00(339)0000000000000000000000000000
sumo=0000 (33900000

sum; = sum;_1 + logy(i — T}) (Q+1<i<Q+K) (3.39)

Step4
sum

fo=— (3.40)

googdd

Step5 f, 003200000 u(L)0(3.41),(3.42)0 0000000000006
00000000000/ 000000000000 (343)000000
0 pvalue 00000000000 pvalue000 001000000000
00000000000

51



032:0L000000 u(L)0 V(L)

L pL) V(L)
6 | 5.2177052 | 2.954
7 |6.1962507 | 3.125
8
9

7.1836656 | 3.238
8.1764248 | 3.311
10 | 9.1723243 | 3.356
11 | 10.170032 | 3.384
12 | 11.168765 | 3.401
13 | 12.168070 | 3.410
14 1 13.167693 | 3.416
15 | 14.167488 | 3.419
16 | 15.167379 | 3.421

V(L)
- (3.41)

g =c
0.8 32\ K3/t
c=0T-—+ <4+f) 5 (3.42)
p-value = erfe ( fn%;a(m‘) (3.43)
3.9.5 0O0O0O0O
032000 £,000 x(L)00000000000 [12]0
p(L)y=2""3"(1-2"%)""log,i (3.44)
=1

O000f 0000000000 (341)000000000CoronO Naccache
000 c0000000000000000000O [13]0

0.8 12.8
c=0.7——+ (1.6 + T) K4t (3.45)

0000000000 000D0OD0O0OB45) 00000 (342)0000000000
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3.9.6 f, 00000000000

0000000 LO060700000000(340)00000 f,003.200
000 w(L)0(3.41),342)00000000000,0000000000000
0000000000000320000000L06000000000f,0
(345 00000000000000000000000000 32300000
330 (342)00000 o0 (34500000 ,000000000000000
DO0O0NISTOOOOOOOOO0O0O000 G Using SHA-1OOOOOOOO nO
L=6000 500,0000L=7000 1,000,0000000000000 10000000

033 00000000L =060

(3.42) O (3.45) O
0000 o | 0.003399802572 | 0.003398625966

33



O 322 f, 000000000000 0O0OOO0ODOOOOOOO
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0 3.23: (3.45)00000000000000000 (L=6)

35



3.9.7 OO

gboobbbbbogoooobbobbboouuooobooboboboboaod
00000000000B.42)00 (345 0000000000000DO0ODOO
gooogoooo
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3.10 Lempel-ZivO OO

3.10.1 OO

Lempel-ZivO O OOO 00 100000000 Lempel-ZivOOOOOODOODO
OO00O00O0DO0o0oo0o0o0o00ooooDoDO0bOooDOooDOoDOoooogn
ooooood

3.10.2 OOOOO

e: 0010000000
Urn :0do0o0o00Od

OW®):0ODODODODODOD0O0OOOOO0OOoOO0oooooo

3.10.3 O0OOOOOO

O00»000O00NISTO 10%it0000000000

3.10.4 0O0O0O0O

Stepl 0 00 10000000 nO0000 & = ey,69,...,6,(5; €00,104 =
1,2,---,n)00000000000000000000000000000 W(n)
0ooo

Step20 W(n)0DO000000 00 ZEGInoDD000000000
D000000000000000000000.010000000000P —value
00000000

(3.46)

P—ﬁwwezéafc(EWNnﬂ—wqm)

202

0000000000000000P —vwalwed0D0 0010000000000
00000000000

000O0W(R) 0000 EW(®)000 o} W(»)00000NSTOOOOO
0oooo

. n
EW(n)] = ggbgn
2

n[C + 6(logy n)]

log n

(3.47)

00 (€ =0.26600060)] < 10°°) (3.48)
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3.10.5 0O0O0O0O

000 nr=10bit000W(R)0000 E[W(n)]000 o2[W(n)] 0 (3.47)0(3.48)
0000 E[W(r)] = 50171.665940 O o2[W(n)] = 33.59365 0 0 00000000
00 [6)0000O0NISTOOOO0O000000000000000000 G-Using
SHA-1 000 Blum-Blum-Shub 000 000000 E[W(n)] = 69588.20190000
000 [W(n)]=73.23726011 000000000000000

3.10,6 W(n)DOOOOOOOOOOO

0000000 R-010°it00000W(r)000000000000O0O0O0OO
gbobbodooogooobobbbobobobobioooooooobboon
NISTOOOOODOOOODODOD G-Using SHA-1OOOODOOOOO 1000 O
00000000000 NISTOOOOOOO0O0O0000000o0oo0o0O (3470
(348)00000000000OOO
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0 324: n=10°it 000 Wn)OODODODOOODODOONISTOOOOOOOO
gooogoooo

0 3.25: n=10°b1t 000 NISTOOOODOOOODOOOOOOO
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3.10.7 OO

0 3.240325000W(»)0000NISTOO00O00O0OO0OOOOOOOOOO
OO0O00OO00o0oooOoOobDOoboOogoNISTOboboooobooobooooooo
000000000 »=10%it0000000000000000000O0ONIST
goboboooggooobbobbbioooooobobobobboooooonog
gobobobboogooobobbbbboodoooooobboobboon
gboboogooboboogoobog
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3.11 OO00Ooogn

3.11.1 OO

oboooobobooobooboMMOOoboooooobobooboboobg
gboboggobbobbogoobooooobbbuoooonoboog

3.11.2 O0OO0O0OO0

nO:000000

ced® OO0 O"00000000e=ey,e9,...,6,0
MO:000O0OO0O0OO

KO:O0OOOOooooooo KOoeOOoOOoOOoOoOoOoOOd
Xi(obs) D:0000O00O

3.11.3 0O0O0OO0OO0O0OO0

NISTOOOO 0O 10°it00,0000000 MO 500<M<50000 0000
gooboooood

3.11.4 0000

n

SteplDDDDDDDDnDDDMDDDDDDDDDDDN:LMJ

Step2 0 Berlekamp-Massey OO0 O O00OO0O0OO0OONOOOODOODODOOO
Ooo00000 L, 00000, 00:000000000000000000000O
OO0 LFSROODOODO0000OO0D00O00DOO00O00o0ooooD L0000
oo0oo0ooooooL4+10o00oooo

Step3 000000 0OO0OODODOOOODODODOODODODODOpOOOOOO

000
M 94 (=M 42

M _ 5 3.49
= 36 M (3.49)

Step4a0 0000001 L < NOUODODOO 1; 000000000

Ti = (=D)M(L; — p) +§ (3.50)

Stepb U 7; 0000000010000 nbdODOOOOODOOOOOOO
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v; T.00

v T, < =25

v | =25 <T; < —1.5
vy | =15 < T; < —0.5
vy | —0.5<T; <05
V4 0.5 <T; <15
Vs 1< T, <25
Ve T, > 25
0007000000 v

Step6 D000 x*(obs) 00D 0ODOODOOOO

K L N?T')2
2 obs) = S Lz V) 351
x*(obs) Z::o N (3.51)
0000m 000 7=0.01047 , m;,=0.03125 , 75=0.125 , m3=0.5 , 74=0.25 .
75=0.0625 , 76=0.02078 0 000

Step7 00000 \*(obs) DDDDDDD00DOO0OOOOD0O x?(obs) O

00000000000000000.010000000000P —valuedODO0O
0000 K ot
1 x“(obs
5y (3.52)
0000000000000000P —waelue000 0010000000000
00000000000

P — value = igamc{

3.11.5 0000

0002000 s"00000000000000O0O0O L(s*)=1L,0000
Or0 FL(sHOOODODODODOODDOOOODO [BUODOOOODOOO (L.Opn)/é,
gbogggbbouogobbogubutdnobbbooobboob2b0bo0d
gobogbbboogbouogbbooooboboolgbooobobboomad
gogbobobodgbbobbudntbogbboooobboobbboagn
goboogooboboooan

gobobouoooogbooboogoobobood

T,=(=1)"[L,—¢&)]+ ; (3.53)

ogod
4+r,

n
§_§+ 18

(3.54)
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oooboobobobboboobooboorobooobboobobooboboooo
goboggoobobboooogoood

1
P(T=0)=; (3.55)
1
P(T=k)= 500 (k=12 (3.56)
1
P(T=k) = 00 (k= —1,-2,) (3.57)
(3.56) 0000
1
E<00D000@57)0000000000
1

000 T, 00000 Pvalue0000000000kD [|Toss|]+1 00 OP-value O

1 1 1
3 % 92k—1 + 3 % 9Zk—2  92k—1

(3.60)

000000000000 000000PvalueOODODOOOO0DOOOODOOO
0000000000000 00000000o0Oo0000oooooOon

000000 MNODODOOOO nO00D0O0O0O0O0O00DO0DOO MONDOOO
O000000000@sA53) 0 0000000000000 0O00OOO0O0TyOO
O0MMODOOOK4+10000000000NDOODOOOO TyO K+10
OO000000000000000 vo,vy, - g 0000+ +---+rvg = NO
Oo0ooad

O0o000000000od m,m,---,m00(3.56) 0000 (3.57) 00000
0000000000000 (3.56)0000 350000000000 0O0O0O0OM
0000000000000 00MDO5000000000000500< M <5000
00000 MOOOOODODODODOOOOO

00000000 y?00000000000

0000000000000 00000DO0000O0 KOOoOoOOooooooad
000000 P-value O

oo U, 2 [ b
7/ e ut ldu—@gamc( C o )) (3.61)
F(%)D22 (obs) 2 2
O0OO0OoOooooooooooooooooood
Nminr; > 5000 (i=0,1,---, K) (3.62)

63



0000000 MO NOOOOOOOOOOOOOOO(KO6) 00000
00(T < —25)0(-25 < T < —15)0(-15 < T < —0.50(—0.5 < T < 0.5)
005 < T <1.5)015<T<25000(T>250000
0000000000000 = 0.01470r, = 0.0312407, = 0.1250007; =
0.500000r5 = 0.625007 = 0.020833 00000000000000000000
0000 0.00410 0.04320 0.19440 0.28630 0.0135 0 00000000000

3.11.6 DDDDXQ(ObS)DDDDDDDDDDD

0000000 n0O 10%it,M O 500,1000 000000000 x*ebs) 0000
gobobobogdogooooobboboboouogbbooooooooboboon
OO00000O00O0O0oOoNISTOODODOODODODODODODO G-Using SHA-1ODO
goooggg ooobodd
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R

VataYe

1 | YatalaY
08 r
06
04 r
O NIST
— h{2RHT
02 r
0 ¢
0 10 15 20 25
HELH
O 3.26: M=500
L
08 r
06
04 1
O NIST
- \
o | HA2F5
0 d
0 10 15 20
BELH

0 3.27: M=1000
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3.11.7 OO

gboobbbbbogoooobbobbboouuooobooboboboboaod
gooooogn
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3.12 OO0O0Ooond

3.12.1 OO

gbbobodoobbbouoddmbggbboboogoobooooooog
UmO40gooboooogoboboooooboobod

3.12.2 O0OOOO

m:000000000

n:00000

0010000000 €= (e1,€2,...6n)

V;/)TQHDDD V%fn:DDDDD mO00O0O00000O000000O00000000
Oo0ooo0ooooooooonon

3.12.3 0O0O0OO0OOOO

NISTO mOnOm< |log,n| —200000000000000

3.12.4 0000

Stepl
e00000000D0 (m-)000000000000O0COOOOO OO0
0ad

Step2
0000000 mOOO0O0000 ¢,20,---2,, DOO0O0OOOOOOO0O
Vs, 000000
(m-) 0000000000 (m-2)0000000000000000O0OOO
0000000 vhyoiy—140igiy—2 00 00

Step3
oo0ooooood

Uy, = - Y Wigim — 2—m)2 = D Viein =M (3.63)
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2m—1 n 2m—1
T2)’L—1 = n ) Z (Vil"'im—l - 2m_1 )2 = n ) Z Vizl...im_l -n
21,22, tm—1 21,22, tm—1
(3.64)
2m—2 n 2m—2
T2)’L—2 = n ) Z (V’il"'im—2 - Zm_Q )2 = n ) Z Vizl...im_g -n
21,22, tm—2 21,12, tm—2
(3.65)
Step4
goooooood
V¥ = Y = Y (3.66)
VAL =k =20+, (3.67)

Stepb
000 w2000 w220 x*0000000000000 w222 0
00000000 (U0 o00)000000000P-valueOOOOO
00

P — valuel = igame(2"72%, 792 /2) (3.68)
P — value2 = igamce(2"72 722 [2) (3.69)

OO00O000O0bO0obOooboobodPvalveO OO 001DOD0ODOODOO
goboogogboobod

3.12.5 0O0O0O0O

Serial Test 000000000000 0O0O0OOOOOOOOOOOOOOOOO
000000000 ¢ = (1,62, c€ny €156, ,6m—1) 0000 11,19, ,1, 000
000000 100000000000000002"0000000 (41,82, »im)
U0ubouboouibouibuld v, ..., d0000oooogd

DDDDD(3.63)DDDDD;/)TQHDDDDDDDDDDDDDXQDDDDDD
Oo0oooooonon Vi17i27...7imDDDDDDDDDDDDDXQDDDDDDD
DDDDDDDDDDDDDXQDDDDDDDDDDDDDDD(3.66),(3.67)D
DDDDDDDDDDDV#}?HDDDD 2m-l XQDDDDVQ;/)TQHDDDD 2m—2
0200000 [16] [17) [18]0
V;/}TQHD ?O0OOO0O0000 GeodOOOOOOOOOO [19]0

3.12.6 OO0 wyi,vXiO0\*00O0000

OO0000b0o0OOo0o0oobooooboOooNISTOODODOODOOoDOooDOooo
G-Using SHA-1OODOOODOODO 1,000,0000 0000 10000000000NIST
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O w2027 00w*2 02" 200000 \*00000000000000
gobogoobibm=20016000000000000
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m=2000

O Ly,

O 2:7%)7,
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m=3000

0 3:74¢7,

O 4:7r,
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m=160 00
OO0 kOOk>30000v2X —2k—10000000000DO0D0ODOOO
0000 (220000 X0000O0oooooo

O 5747,

O 6:57%7,
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3.12.7 0O

gboobbbbbogoooobbobbboouuooobooboboboboaod
gooooogn
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3.13 UO0O00OO0oooogdn

3.13.1 OO

gbobobodoobobooooobuodmbboogbbboogbobod
bbuodmdbooooobbboooooboboagoon

3.13.2 O0OOOO0

m:0000000000

nO000000

0010000000 €= (e1,€2,...6n)
Xz(obs):DDDDDDDDDDDDDDDDDDD ApEn(m)0 00000000
0000000000 2000

3.13.3 0O0O0OOOOO

NISTO mpnO m < [log,n| —200000000000000

3.13.4 0000

Stepl
e000000000 (m-)0000O0O0O0OO0OO0OOO0DO0O0OOOOONnOO
00000 mdooooooooooao

Step2
OO000000mO0OOO0OO0OO0OODOOD0OO0ODOODOODOOO 0000
000 OmO0O0000O00O0OO0O200000000000400

Step3
. m 1
DOo0iDddocer=-000000
n
Step4
000000000
2m—_1
o™ = 3" Crlog O (3.70)

=0
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Stepb
m=m+100000 Stepl 00 Stepd0 000 OO

Stepb
oo0ooooood

x? = 2n[log2 — ApEn(m)] (3.71)
o
ApEn(m) = ¢(™) — glm+D) (3.72)

Step7
000 x*0 x*0000000000000 x*000x*000000 (0
000.0)000000000P-valkeDOOOOOO

2
P — value = igame(2™ ", X?) (3.73)

OO00O000O0bO0obOooboobodPvalveO OO 001DOD0ODOODOO
goboogogboobod

3.13.5 0000

00000000000 (1996) 0000000000000 PincusO Singer O

0000000 [2000Yi(m) = (e, &0 m—1)0000
m 1 . .
c = mﬂ{]:lﬁj <n-—m,Y;(m)=Y(m)} =m (3.74)
o
() n+l—m
o' = ——— log C" 3.75

Oobooocrooooboboboooboog K(m)DDDDDDDDD—Cb(m)DD
UO0mUd2n000000000000000000000O0O0O0000O0O0OO0
googdd

ol — Zm log 7y (3.76)

000~ 0000000000O0O0O0O ?={(44,...,i,) 000000000
O0m(m>1)000000000 ApEn0000000OOOOOO

ApEn(m) = &™) — p(m+1) (3.77)
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OD000ApEn(0)0 —eWO000MMApEr(m)0 01 000000000000
D000D0mO000000000D000D000000000000000000
OD0000ApEn(m)0000000000000000O0D000D0O0O0DOO0O0
00000000000000000000000000000000 /[20]
Pincus and Kalman(1997) 0000000000000 ApEn(m)000000O
0000 0m-irregular(m-random) 000000000000 eZE/2000 V3
0200000 10000000000 ApEn(mPm=0,1,20000004300
D0~-0000000000000000000D000DOO000
D000000mO00000000000 (00D0)0000000 ApEn(m)
DOlog20000000n[log2 — ApEn(m)] 0000000000 2n000 20
000000000000 Rukhin(2000)00000000000000000
000000 x*(obs) = nllog2 — ApEn(m)] 00 0 O P-value O

igamc(2m_lﬂ)@ﬂ (3.78)

ooono
Oo0oogoooooooobobobooooooooooonoooooooon
D(51,...,€nDD@l,...,em_l)DDDDDDDDDDDDDDDDDDDDDDD
DDDDI/Z'L“Z'MDDDDDDDDDDDDDDDDDDDDD(il,...,im)DDD
ooooono
olm) — > Vi 108 Viy i, (3.79)

11.lm

dooooooooooood
ApEn(m) = o) _ p(m+) (3.80)

ooooon
Jensen 000 0D00000sO00000000 mOO000 logs > ApEn(m) O
O00Ologs < ApEn(m)0 0000000 (00000s=2)00000000
00000000000000000Olegs00000000r=S"0000
0000000000000 0wmO00000000O0O00OO0

n0000000ApER(m)00000000000D000000000 mOO
O0r0000000 ®™WOOD OO0 00DDD0O000O PincusO0O0O
0000000000000 000000000oo0oooooooooooo

3.13.6 000’0 \’000000

OO0000b0o0OOo0o0oobooooboOooNISTOODODOODOOoDOooDOooo
G-Using SHA-1OODOODOODOO 1,000,0000 0000 10000000000
NISTOOOOOOOOOOOO?2"0 x*00000000000
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P

U Im=2000

P

U 2m=3000
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